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1 [E&8N BA 42 | 43 85 | 16 [14.4 70.6 | 100P || 31 |A1 ZEm 48 | 44| 92| 12108 1.0]82.2
2 |R& &1T 44 | 42 86 | 16 |14.4 71.6 | 80P 32 | Ex 45 | 46 91 9| 8.1 82.9
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11 k& & 44 | 43| 87 13 |11.7 [1.0 | 76.3 41 [RX R 55 | 49 104 | 21 ]18.9| 1.0 [86.1
12 | R KA 46 | 46 92 | 17 |15.3 76.7 42 |B#H HE 54 | 52 106 | 21 ] 18.9 87.1
13 (s BEE 45 | 47 92 | 16 |14.4 77.6 43 |KAR Fx 53 | 54 107 | 22| 19.8 87.2
14 |Rw F1k 48 | 47 95 | 19 |17.1 77.9 44 |kxE & 48 | 61 109 | 24| 21.6 87.4
15 [A% = 50| 46| 96| 21 [189 1.0 78.1 45 |BE FiE 45 | 61 106 | 20 | 18.0 88.0
16 |AAX & 43 | 49 92 | 15 [13.5 78.5 46 |FZE BR 51 | 57 108 | 22| 19.8 88.2
17 |&FXx T& 45 | 52 97 | 20 [18.0 79.0 47 | A+ BE 59 | 57 116 | 30 27.0 89.0
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22 |HA = 41| 51 92 | 13 [11.7 80.3 52 |EAX #F 59 | 64 123 | 30 27.0 96. 0
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